O 20218td 5 AR AA A -1 DIT S astueta

Bt SEAY E4d3l1 SEdY
sty Bl R B sty Bl R B
Eigni by N 1 b 1 N
dE 158 8a|oim B85 8 d8158 an|oie B85 B2
Ha 100 | 4.9 {68.020.0| - - - 88.0 100 | 3.9 |71.0120.0| - - - 91.0
Al & X - 10.0 12.3
ENES 100 | 4.9 {68.020.0| - - - 88.0 100 | 3.9 |71.0/20.0| - - - 91.0
_ Ha 100 | 5.4 |165.0/20.0| - - - 85.0 100 | 4.2 |68.0| 0.0 | - - - 68.0
A=y = 133.0 15.3
ENES 100 | 5.4 |165.0/20.0| - - - 85.0 100 | 4.2 |68.0| 0.0 | - - - 68.0
Ha 100 | 5.7 |64.5|17.1| - - - 81.6 100 | 4.6 |67.7|11.4| - - - 79.1
S2HEB XA - 2.0 2.0
ENES 100 | 7.7 |59.01 2.0 | - - - 61.0 100 | 7.1 {59.0| 5.0 | - - - 64.0
Ha 100 | 5.4 |165.0/20.0| - - - 85.0 100 | 3.6 |71.0/19.4| - - - 90.4
1A — 1210 24.3
ENES 100 | 5.4 |165.0/20.0| - - - 85.0 100 | 5.0 |68.0]|17.0| - - - 85.0
Ha 100 | 5.6 |65.0|15.4| - - - 80.4 100 | 3.2 |72.5/16.3| - - - 88.8
A BHOFA 2k 1t - 28.0 26.0
ENES 100 | 6.8 |62.0/ 0.0 | - - - 62.0 100 | 3.8 |71.0|14.0 - - - 85.0
Ha 100 | 5.8 |64.1/19.1| - - - 83.3 100 | 3.3 |71.4|15.6| - - - 87.0
TS XHH ~ 1155 15.3
ENES 100 | 8.0 |59.0|14.0 - - - 73.0 100 | 4.6 {68.0|/ 0.0 | - - - 68.0
g 100 | 5.6 |65.5|17.5| - - - 83.0 100 | 4.1 [69.5|13.5| - - - 83.0
SpIin ——113.8 11.2
ESES 100 | 7.0 |62.0| 8.0 - - - 70.0 100 | 5.6 [65.0| 0.0 - - - 65.0
_ g 100 | 5.7 |65.0|14.0 - - - 79.0 100 | 2.9 [74.0/20.0| - - - 94.0
AEEFEY = 113.0 20.5
ESES 100 | 5.7 |65.0|14.0| - - - 79.0 100 | 2.9 [74.0/20.0| - - - 94.0
o g 100 | 5.2 |66.5/20.0| - - - 86.5 100 | 2.8 |74.0/18.0| - - - 92.0
slatzel ) "7 31.0
ESES 100 | 5.9 |165.0/20.0| - - - 85.0 100 | 3.5 |71.017.0| - - - 88.0
o g 100 | 2.5 |74.3/20.0| - - - 94.3 100 | 1.4 |77.0/20.0| - - - 97.0
258 =" 1465 9.0
ESES 100 | 2.9 |74.0/20.0| - - - 94.0 100 | 1.5 [77.0120.0| - - - 97.0
~ g 100 | 3.1 |72.0/20.0| - - - 92.0 |181.1 100 | 1.3 |77.0120.0| - - - 97.0
sz a2 " 1714
ESES 100 | 3.3 |71.0/20.0| - - - 91.0 0 100 | 1.3 |77.0120.0| - - - 97.0
g 100 | 3.4 |72.0/20.0| - - - 92.0 100 | 2.2 |75.5/20.0| - - - 95.5
LN O - 55.0 44.0
ESES 100 | 3.7 |71.0120.0| - - - 91.0 100 | 2.4 |74.0/20.0| - - - 94.0
. Ha 100 | 4.3 |69.8|15.4| - - - 85.2 100 | 3.9 |70.1|15.0f - - - 85.1
SAME I - 72.0 51.5
ENES 100 | 5.9 {65.0|/ 0.0 | - - - 65.0 100 | 4.6 |{68.0| 0.0 | - - - 68.0
Ha 100 | 5.4 |166.0/20.0| - - - 86.0 100 | 4.7 |67.0/20.0| - - - 87.0
Ok TH KH& b - 12.0 21.0
ENES 100 | 5.9 {65.0/20.0| - - - 85.0 100 | 6.6 |62.0/20.0| - - - 82.0
Ha 100 | 3.1 |72.0120.0| - - - 92.0 100 | 2.4 |74.0/20.0| - - - 94.0
S22 - 46.7 41.5
ENES 100 | 3.5 |71.0120.0| - - - 91.0 100 | 2.6 |74.0/20.0| - - - 94.0
Ha 100 | 4.5 168.0/20.0| - - - 88.0 100 | 2.5 |74.0/20.0| - - - 94.0
At - 53.7 46.0
ENES 100 | 4.7 |168.0/20.0| - - - 88.0 100 | 2.5 |74.0/20.0| - - - 94.0
o Ha 100 | 6.0 |63.5|15.7| - - - 79.2 100 | 7.4 |59.0/20.0 - - - 79.0
ALBIHI S 3 ——133.5 44.0
ENES 100 | 7.5 {59.0|/ 0.0 | - - - 59.0 100 | 7.4 |59.0/20.0| - - - 79.0
Ha 100 | 3.7 |71.0/ 0.0 | - - - 71.0 100 | 3.5 |71.0|15.5| - - - 86.5
AP CI ROk - 9.3 20.5
ENES 100 | 3.7 |71.0/ 0.0 | - - - 71.0 100 | 3.6 |71.0|11.0 - - - 82.0
~ g 100 | 5.1 |165.0/20.0| - - - 85.0 100 | 3.7 [71.0/20.0| - - - 91.0
3 S 3| A - 25.0 55.0
ESES 100 | 5.1 |165.0/20.0| - - - 85.0 100 | 3.7 [71.0120.0| - - - 91.0
. g 100 | 5.0 |67.4/20.0| - - - 87.4 100 | 4.2 [69.5|18.5| - - - 88.0
JEAFAZE - 25.3 30.0
ESES 100 | 5.9 |165.0/20.0| - - - 85.0 100 | 4.8 [68.0|17.0| - - - 85.0
g 100 | 4.2 |168.0/20.0| - - - 88.0 100 | 3.8 [71.0110.0| - - - 81.0
ZBU2HNES - 4.0 9.5
ESES 100 | 4.2 168.0/20.0| - - - 88.0 100 | 4.6 [68.0| 0.0 - - - 68.0




Blot
S

H

H

HEESI0AES

65.0

82.9

65.0

62.0

FSMHEHIAZ 20

80.8

79.5

59.0

68.0

=
tor
J
bal
5]

88.0

90.3

88.0

82.0

0
=)
£
10
&

79.0

86.0

64.0

32.0

68.0

F2 Ml A D

ool

76.0

87.0

76.0

14.0

87.0

S PH 2 AT HI A Dt

= o

fol

88.0

76.5

88.0

68.0

20l

0t
P
0K

1=

22.5

I REIXS

15.7

&l X al

==

02
02
I

=
.

fol

(o]
@]
oO|lo|lo|Oo | o

26.0

FSASKHIELIAD

9.0

AR SXI 2 AHIAD

23.0

02

Tgsh

10.0

o|lo|o|o|lo|o|o|u|o|w|o

LA OIOHLIRIHE Dt

[ee]

5.0

(&)
©

HA

Il

=1t

AW (=-Z-==ARDH) 5SS

wWIe0E + E4208 + HE20E
wWIBE + =420F

BIZLIAD, ARISKIL2EAH A g

SAHHOHLIKIHED} -

=

5}

o
0x
JA

- ©
£ |o|lo|lo|lw|o|lo|o|o|lo|o|o|x|o
=




O 20218td 5 =X QxHERZ A2 TH-2 DIT S astueta

OistXROIE NS (EA) et RO E M (FFDAl)
g”ﬁ—‘?— =] N ZENANEH o] Bl
=190 X min X HE JI= s =
£ %*% g4 Jle 8% gaz+ d§ 848+ 8%
g2 100 | 4.4 |76.8| 5.3 | - - - | 82.1 100 71.0 5.0 184.0| - - | 84.0
Al S Xt - 6.0 6.0
ESES 100 | 7.0 |59.0] 0.0 | - - - | 59.0 100 62.7 7.0176.0| - - | 76.0
_ g2 100 | 5.0 |84.01 0.0 | - - - | 84.0 100 74 .1 5.0 184.0| - - | 84.0
2 o == 0.0 10.0
ESES 100 | 5.0 |84.01 0.0 | - - - | 84.0 100 74 .1 5.0 184.0| - - | 84.0
B3 - - - -] - - - - - - - - - | - -
SAUHEXN D - -
ESES - - - - - - - - - - - - - - -
g2 100 | 4.5 |78.1/86.0| - - - | 86.0 100 78.1 4.5186.0 - - | 86.0
JIAAE - 9.0 9.0
ESES 100 | 5.0 |71.6/84.0| - - - | 84.0 100 71.6 5.0 184.0| - - | 84.0
g2 100 | 4.3 |68.0(20.0| - - - | 88.0 100 76.0 5.0(84.0) - - | 84.0
agtord el - 9.0 9.0
2 E 100 | 4.3 |68.0(20.0| - - - | 88.0 100 69.7 6.080.0| - - | 80.0
_ g2 100 | 5.6 {81.3| 0.0 | - - - | 81.3 100 81.3 4.0188.0) - - | 88.0
XsSxHHLE . 7.0 7.0
2 E 100 | 7.0 |76.0 0.0 | - - - | 76.0 100 76.0 7.0]76.0) - - | 76.0
g2 100 | 5.0 |84.01 0.0 | - - - | 84.0 100 75.8 5.0(84.0) - - | 84.0
It “~ 150 5.0
2 E 100 | 5.0 |84.01 0.0 | - - - | 84.0 100 75.8 5.0(84.0) - - | 84.0
_ g2 100 | 5.7 |73.0110.0| - - - | 83.0 100 78.0 5.0(84.0) - - | 84.0
2EEH™ED "~ 150 5.0
2 E 100 | 6.3 |62.0| 0.0 | - - - | 62.0 100 78.0 5.0(84.0) - - | 84.0
_ g2 100 | 6.0 {80.0| 0.0 | - - - | 80.0 100 69.4 6.080.0) - - | 80.0
SterS - 4.0 4.0
2 E 100 | 6.0 {80.0| 0.0 | - - - | 80.0 100 69.4 6.080.0) - - | 80.0
_ g2 100 | 2.0 |96.0| 0.0 | - - - | 96.0 100 95.9 2.019.0| - - | 96.0
215587} == 480 48.0
2 E 100 | 2.0 |96.0| 0.0 | - - - | 96.0 100 95.9 2.019.0| - - | 96.0
_ g2 100 | 2.7 |74.0120.0| - - - | 9%4.0 100 98.3 1.0 [100.0] - - | 100.0
ScIXZz ot - 27.0 27.0
ESES 100 | 2.7 |74.0120.0| - - - | 9%4.0 100 98.3 1.0 [100.0] - - | 100.0
g2 100 | 3.0 |92.01 0.0 | - - - 192.0 100 89.4 3.0 192.0| - - 192.0
2 AHS It - 14.0 14.0
ESES 100 | 3.0 |92.01 0.0 | - - - 192.0 100 89.4 3.0 192.0| - - 192.0
) g2 100 | 3.4 |71.01 0.0 | - - - | 71.0 100 85.1 4.0188.0| - - | 88.0
U I} “= 170 7.0
ESES 100 | 3.4 |71.01 0.0 | - - - | 71.0 100 85.1 4.0 188.0| - - | 88.0
g2 100 | 2.1 |75.01 9.7 | - - - | 84.7 100 83.1 4.0188.0| - - | 88.0
OF TH X2 Bt - 3.5 3.5
ESES 100 | 3.2 |71.01 0.0 | - - - | 71.0 100 83.1 4.0 188.0| - - | 88.0
g2 100 | 2.0 |96.0] 0.0 | - - - 1 9.0 100 92.3 2.019.0| - - 1 9.0
S - 14.0 14.0
ESES 100 | 2.0 |96.0] 0.0 | - - - 1 9.0 100 92.3 2.019.0| - - 1 9.0
g2 100 | 2.0 |96.0] 0.0 | - - - 1 9.0 100 92.9 2.019.0| - - 1 9.0
ol a2 It "~ 190 9.0
ESES 100 | 2.0 |96.0] 0.0 | - - - 1 9.0 100 92.9 2.019.0| - - 1 9.0
_ g2 100 | 5.2 |66.0|17.0| - - - | 83.0 100 68.3 6.080.0| - - | 80.0
A2 M= Dt - 6.0 6.0
2 E 100 | 6.8 |62.0 2.0 | - - - | 64.0 100 67.5 6.080.0) - - | 80.0
g2 100 | 4.4 |78.6|2.4| - - - | 81.0 100 81.1 4.0188.00 - - | 88.0
AP CIXFQI Dt . 8.0 8.0
2 E 100 | 5.8 |65.0 0.0 | - - - | 65.0 100 721 5.0(84.0) - - | 84.0
_ g2 100 | 5.0 |76.3| 0.0 | - - - | 76.3 100 76.3 5.0(84.0) - - | 84.0
Z 3 H . 2.0 2.0
2 E 100 | 5.0 |76.3| 0.0 | - - - | 76.3 100 76.3 5.0(84.0) - - | 84.0
_ g2 100 | 2.8 |74.0|17.0 - - - | 91.0 100 76.4 5.0(84.0) - - | 84.0
SJEHIAZ . 4.0 4.0
2 E 100 | 2.8 |74.0|17.0 - - - | 91.0 100 60.6 7.0176.0) - - | 76.0
g2 100 | 5.4 |74.5/8.5| - - - | 83.0 100 71.6 5.0(84.0) - - | 84.0
2BLU=2UH B . 5.0 5.0
2 E 100 | 5.7 |65.01 0.0 | - - - | 65.0 100 71.6 5.0(84.0) - - | 84.0




et X MOIE M8 (FA) HERAMIIE e (2F DAl
st o] P = PSP\ ES o] P
=190 X n n X AN JI= s =
|| BHAH | o o || 2 A
dE 158 8a|oim B85 8 gaa+ 45548+
g2 100 | 5.0 |84.01 0.0 | - - - | 84.0 100 72.3 5.0(84.0/ -
24BAS=0EE 2.0 2.0
ESES 100 | 6.0 {80.0 0.0 | - - - | 80.0 100 64.3 6.0180.0| -
g2 100 | 3.2 |71.8|10.5| - - - | 82.3 100 - - - -
SSAHEIZ 2 1.3 1.3
ESES 100 | 4.4 |68.01 0.0 | - - - | 68.0 100 - - - -
g2 100 | 4.7 |68.01 0.0 | - - - | 68.0 100 63.0 6.0180.0| -
AFEIZ X T ~— 133 3.3
ESES 100 | 5.4 |65.01 0.0 | - - - | 65.0 100 63.0 6.0180.0| -
g2 100 | 3.8 |79.01 0.0 | - - - | 79.0 100 76.0 5.0(84.0/ -
FOotw =1t - 9.0 9.0
ESES 100 | 5.0 |74.01 0.0 | - - - | 74.0 100 76.0 5.0(84.0/ -
_ g2 100 | 5.0 [64.0/ 0.0 - [17.0f - | 81.0 100 70.9 5.0164.0| 17.0
S AUl A D - 2.0 2.0
ESES 100 | 5.0 [64.0/ 0.0 - [17.0f - | 81.0 100 70.9 5.0 164.0| 17.0
_ g2 100 | 3.2 |71.010.0| - - - | 71.0 100 75.3 5.0(84.0/ -
S22 Ayl A D 4.5 4.5
ESES 100 | 3.2 |71.010.0| - - - | 71.0 100 75.3 5.0(84.0/ -
_ g@7 100 | 5.1 165.4|18.8| - - - | 84.2 100 81.0 4.0 188.0f -
oeosd3 - 14.0 14.0
B ES 100 | 6.8 |62.0|17.0| - - - | 79.0 100 76.0 5.0 184.0) -
B g@7 100 | 4.5 |72.01 4.4 | - - - | 76.4 100 83.3 4.0 188.0f -
AHREIEE - 6.3 6.3
B ES 100 | 5.9 |65.0/ 0.0 | - - - | 65.0 100 83.3 4.0 188.0f -
_ B g@7 100 | 4.5 186.0| 0.0 | - - - | 8.0 100 81.3 4.5186.0f -
SHXFLSR 4.0 4.0
B S 100 | 5.0 |84.0/ 0.0 | - - - | 84.0 100 78.9 5.0 184.0) -
B - - - -] -] - - - N A
SSLESRUIELIAD - -
EE -l - - - -] - - - - - -l - -
B - - - -] -] - - - N A
AMBISX LA A D = - -
e - - -] -] - - - - - -
SESTE - -
e - - - -] - - - - - - - -
B2 -l -T-1-T-1-7 - - - -1 -1 -
SAHOLINBED — | - -
®SME 953 IIE(18YE ~ 38E1E)| NFWIH(2-Y-2Ak) 50S + A& XIE
I = S E100t=8ery)
= xEHES D 0 1008 = WE0E + 4208 + HEF20E
128t - 1008 = W80E + &4208

*
!
S|
0x
Ja
o
<
02
on
bl
62
30
0l




DDONG-EUI INSTITUTE OF TECHNOLOGY

&

DIT T2l syl

B0
KJ
KJ

Ho

94.0

94.0

76.0

76.0
88.0

88.0

—

| !

~<F
IFRO

R4k
IR0

Jij

ol

Bl 10

xr
L

11.0
11.0

—

E

<<
w0

<JnI
Ui0

RO
ol

100 | 2.8 |74.0]20.0
100 | 3.0 |74.0]20.0
100 | 3.2 |71.0]20.0
100 | 3.2 |71.0]20.0

100 | 5.7 |65.0
100 | 5.7 |65.0

100 | 4.3 |68.0(20.0
100 | 4.3 |68.0[20.0

<0
m_6_______

78.7
73.3
85.4

85.4

87.7

87.7

92.7

92.7

84.0

75.8

89.2

89.2

86.1

83.9
82.9

77.3

69.2

69.2

—

| !

A<
IHRo

R4k
IR0

7.0

16.7

16.7

18.7

18.7
14.0

10.0

0.0

0.0

&r
X0
ol

—

| !

L

E

<<
w0

91.7

78.7
73.3

85.4

87.7

87.7

92.7

92.7

72.2

68.8

72.5

72.5

67.4

65.2
68.9

67.3

69.2

69.2

<o

Ul

RO
ol

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

<0
m_6_______

1.0

0.5

14.9

44.0

9.0

O 202189 % FAQAHER YA ZEFH-3

—

ol

Ko
w

Kl
"

13
=0

Kl
"

Kl
"

13
=0

kio
i

13
=0

13
=0

w

w

Ko
w

Kl
"

Kl
"

13
=0

Al & X2t

=
Rr

iy
R0

H0

FAE

JIAHAHE
X

&1

ol
110

~J

—

E]

B0
<0

ol

Xl = ot

3

At

ag=syupNgeIin’;

[0
K

M
oll

=)
Al

&D



B0
KJ
KJ

Ho

—

| !

~<F
IFRO

RI<
aJrO

Jij

ol

Bl 10

xr
L

<<
= | BRO

= 2
=ujo

RO
ol

<0
m_6_______

88.0
88.0

—

| !

A<k
IHRO

RI<
aJrO

&r
X0
ol

—

| !

L

<<
=y | BRO

88.0
88.0

= zim

Ul

RO
ol

100
100

<0
m_6_______

—

ol

o
o

S
S

4 A (H
n

=
=

b

=

RO

He=3

3

<J
o
I+

ni;
ni;

A
A

q

FAEIA T

HIOIOHLI XIH E 1t

s

=

|SXI2AI

SAHIAD

el = Xt
21}
3|

+

S

IS

Sl01REl
SSUTRYIEL
A

LIPS

X~
(=]

H208 + HE20
S208

=
=2

=
=2

wWI60E +
100& = wW80H +

Il




82.0

82.0

88.0
88.0

82.0

82.0

DDONG-EUI INSTITUTE OF TECHNOLOGY

—

| !

~<F
IFRO

RD<F
aJrO

&

DIT T2l syl
/WA (FH)X HE

3

=

(3=

D
=

Jij

ol

Bl 10

xr
L

17.0

17.0

—

E

<<
w0

<JnI
Ui0

RO
ol

100 | 5.7 |65.0
100 | 5.7 |65.0

100 | 4.0 |71.0]20.0
100 | 4.0 |71.0]20.0

100 | 3.4 |71.0]20.0
100 | 3.4 |71.0]20.0

100 | 5.0 |68.0[20.0
100 | 5.0 |68.0[20.0

100 | 3.5 |71.0] 0.0

100 | 3.5 |71.0] 0.0

100 | 3.9 |71.0]20.0
100 | 3.9 |71.0]20.0

100 | 6.7 |62.0]20.0
100 | 6.7 |62.0]20.0

<0
m_6_______

97.5
97.0
88.0
88.0

88.0
88.0
68.0
68.0

—

| !

A<k
IHRO

RI<
aJrO

=g/ M8

Jij

ol

—

| !

L

E

<<
w0

<o

Ul

1.5 177.5]20.0
1.7 177.0120.0

RO
ol

100 | 3.7 |71.0]20.0
100 | 3.7 |71.0]20.0
100 | 4.0 168.0]20.0
100 | 4.0 168.0]20.0

100
100

100 | 4.9 |168.0[20.0
100 | 4.9 |68.0[20.0
100 | 4.8 |68.0] 0.0
100 | 4.8 |68.0] 0.0

<0
m_6_______

O 2021t = TAQCAHER dAZ -4

—

ol

Ko
w

13
=0

Kl
"

13
=0

Kl
"

Ko
w

Ko
w

Ko
w

13
=0

13
=0

Kl
"

Al & X2t

=
Rr

iy
R0

H0

JIAHAHE

FAE

PN

FSplin;

Xl = ot

3

At

ag=syupNgeIin’;

[0
K

M
oll

=)
Al

&D



76.5
88.0
79.0
88.0
82.0
85.0
76.0

—

| !

~<F
IFRO

RI<
aJrO

P /WA (ZE) X HE

=]
=],

3

D
e}

Jij

ol

Bl 10

xr
L

18.5
17.0
18.0
15.5

—

B

<<
w0

<JnI
Ui0

1.8 |77.0] 8.0

RO
ol

100 | 2.7 |72.5| 4.0
100 | 3.2 |71.0] 0.0
100 | 2.5 |74.0| 2.0
100 | 3.3 |71.0]20.0
100 | 3.3 |71.0]20.0

100 | 4.3 |69.5
100 | 6.6 |62.0
100 | 3.9 |70.0
100 | 4.9 |66.5

100

<0
m_6_______

—

| !

A<k
IHRO

RD<F
aJrO

=g/ /e M8

Jij

ol

—

| !

L

B

<<
w0

<o

Ul

RO
ol

<0
m_6_______

—

ol

o
o

S
S

Yo}

ol

=

E

0

=

o

@l

XJ

+

ar

=

Yo}

Rl

<

<

80

;

L

R

= wD

RO B

= -+

o RORD

W SR
T T

| I

_|_m_| _x_._:_x_._.:

@ + +

' RORO

o 88

oo™ E

Z mn

xlz o

([

o) =+
o)., ..

TN
— 33

Ik 3 W i

207 & oY

or " 8

OO 3 %

ni;
ni;

b

A
A

q

FAEIA T

=]

He=3

3
s

HIOIOHLI XIH E 1t

|SXI2AI

SAHIAD

Al

SESMIRHIZL
2]

2l = X

5t
Al R El
At

ETEN

KK

Il




